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Please find the area of the following figures.
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For questions #8 — 9, please find the area of the shaded
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Given the following information, please find the missing measure for each figure.

10) A = 750 m?; find the height 11) A = 188.35 ft?; find GK
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12) A = 375 in’, MP = 25 in; find NQ

N A=3d,d2
o 16.515 = 436 b2
ylo N\ p  315%7(s)(dy) by 269 ft
Ny 316 :13.5d2

Q d,230 ﬁ‘NQ”;Om ’

13) Find the area of an isosceles trapezoid with a perimeter of 52 yards; the measure of one base is 10
yards greater than the other base, the length of each leg is 3 yards less than twice the length of the

shorter base and each base angle has a measure of 15" A= 7l_ (18+%) (13.0)
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14) This quilt block is composed of twelve congruent rhombi arranged in a regular hexagon. The height
of the hexagon is 8 inches. If the total area of the rhombi is 48 square inches, find the lengths of each

diagonal and the area of one rhombus. Tofu\ Aved 4% = |2 yhomby = L\m"
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15) In the figure, the vertices of quadrilateral ABCD intersect the square EFGH and divide its sides into

segments with measures that have a ratio of 1:2. Find the area of ABCD. E 6 C 3 F
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16) Find the area of a circle whose circumference is 347 inches. Round to the nearest tenth.
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17) How far will a wheel of radius 9 cm travel in two revolutions? Round your answer to the nearest
centimeter. C=2mt
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For questions #18 — 24, find the area of the shaded region. Round your answers to two decimal places.
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For questions #25 — 27, find the indicated measure. Round your answers to the nearest tenth.

25) m:47? 26) Radius of circle J 27) Circumference of circle F
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28) Please find the perimeter of the figure below assuming that the curves at the ends of the figure
shown are 180° arcs of circles. Round to the nearest tenth.
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For questions #29 — 31, find the indicated measure. The area of the shaded sectors is given. Round

your answers to the nearest tenth.

29) Area of circle H 30) Radius of circle H 31) Diameter of circle H
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Find the area of the shaded gectop. Round to the nearest tenth.
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33) The diagram below shows the area of a lawn covered by a water sprinkler.

a. What is the area of the lawn that is covered by the sprinkler?
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b. The water pressure is weakened so that the radius is 10 feet. What is the area of the lawn
that will be covered?
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34) Convert the angle to radians. Express your answer in terms of 7.
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